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MAXE CHEA| 516 2702 dvm A (DVM dvm1("T1", 10, 20, 5001); DVM dvm2("T2", 4, 5, 5002); )

PS C:\OOPT_development> ./dvml PS C:\OOPT_development> ./dvm2

[P2PServer] Listening on port 5eel.. [P2PServer] Listening on port 5ee2..

=TT ﬂ_*'DH(l) | AEDE YH(2) | TDH S=(3): =TT ?*'DH(l) | s YH(2) | TDH == (3):

ID: 1, Name: , Price: 1508, Stock: © : 1, Name: , Price: 15@@, Stock: ©

ID: WETITE L}, Price: 148, Stock: © Name: L}, Price: 148, Stock: 68

ID: Name: Price: 1300, Stock: @ Name: Price: 1300, Stock: @

ID: Name: Price: 1350, Stock: 56 Name: Price: 1350, Stock: 16

ID: Name: |, Price: 1800, Stock: 47 Name: | , Price: 1800, Stock: ©

ID: Name: , Price: 1200, Stock: © Name: , Price: 1200, Stock: ©

ID: Name: |, Price: 1100, Stock: © Name: |, Price: 1100, Stock: 70

ID: Name: 7 1|, Price: 1660, Stock: © Name: 7+ 1|, Price: 16e@, Stock: ©

ID: Name: =, Price: 100@, Stock: 35 : Name: Price: 1000, Stock: ©

ID: 10, Name: 0|4 A =% =3, Price: 2000, Stock: © : 10, Name: U|HA| =T 2, Price: 2008, Stock: ©

ID: 11, Name: 7 AbAb, Price: 1500, Stock: @ : 11, Name: & /AtA}, Price: 158, Stock: ©

ID: 12, Name: 2 > Price: 1400, Stock: © : 12, Name: % Price: 1400, Stock: ©

ID: 13, Name: O Price: 1350, Stock: 45 : 13, Name: 00| 2~E|, Price: 1350, Stock: ©

14, Name: f.s = Price: 1780, Stock: 44 : 14, Name: ?.; %=JE Price: 1760, Stock: 51

Name: < ZlA| =+, Price: 1708, Stock: © : Name: < 2lA| =~ Price: 1708, Stock: 57
Name: = T =, Price: 1700, Stock: © : Name: -~ T =, Price: 1760, Stock: ©
Name: 0| ===, Price: 1300, Stock: © : Name: ”IJ;F:EE, Price: 1300, Stock: ©
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Name: OfM|2/2t'-, Price: 1960, Stock: 18 : Name: O} 2/ 3t'c, Price: 19ee, Stock: 64

Name: Sf= T, Price: 1800, Stock: 57 : : SfZ=3, Price: 18e8, Stock: ©

Name: > 1 ice: 2000, Stock: © : : JtH 2t , Price: 2000, Stock: 14
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T1 XHEt7)0f| |07t 555 2H 284 F2 -> T1~T79| Xty |01|71I broadcast(22! T1 H|2]) -> T2 X7 [o|A|

: 2 = E|], Price: 1800, Stock:
b=, Price: 1200, Stock:
Y 2| &, Price: 118, Stock:
7 A Price: 160@, Stock:
[MsgManager] & O Al Al ¢ {"dst_id":"T1","msg_content":{"coor x":4 = e: 1eee, Stock: ©
,"coor_y":5,"item code":2,"item num":68}, "msg_type":"resp_stock"," : Al 4A =2 =2, Price: 2000, Stock: ©
src_id":"T2"} : - A, Price: 1500, Stock: ©
[P2PClient] connection failed to 127.0.8.1:583 error code: © : : &l@, Price: 14@e, Stock: ©
E?{J(E{{J) [P2PClient] connection failed to 127.0.8.1:58@3 error code: © : : Ot0| ~~El, Price: 1350, Stock: ©
CIHOE [P2PClient] connection failed to 127.0.0.1:584 error code: : : 913 iﬁil, Price: 1700, Stock: 51
=3 [P2PClient] connection failed to 127.0.8.1:56084 error code: © : : 2dlAl =2, Price: 1700, Stock: 57
[P2PClient] connection failed to 127.9.8.1:5885 error code: : : X T =, Price: 1700, Stock: ©
[P2PClient] connection failed to 127.0.8.1:5085 error code: © : : 0| =3 =, Price: 1300, Stock: ©
[P2PClient] connection failed to 127.0.0.1:5006 error code: : : Ot 2t =, Price: 1900, Stock: 64
[P2PClient] connection failed to 127.9.8.1:5086 error code: © : : ?LEEEE, Price: 1800, Stock: ©
[P2PClient] connection failed to 127.9.8.1:5807 error code: : : f , Price: 2000, Stock: 14
[F2PClient] connection failed to 127.8.8.1:5087 error code: © =7 o= 2=
MEH SHA A SUDE? Yes(Y|y) No(N|n): y IhIIJ {"dst_id":@,"msg_content":{"item code":2
"item num" .2},"msg_type":"req_stock","src_id":"Tl"}
[MsgManager] = ¢! |*|II: {"dst_id":"T1","msg_content":{"availabil
EA(AA] ity":"T","item_code":2,"item num":2},"msg _type":"resp_prepay","src [MsgManager] &1 Of Al Al ¢ {"dst_id":"T2","msg_content":{"cert_code"
st () . d":"T2"} :"8rM85","item_code™:2,"item_num":2},"msg_type":"req_prepay","src_i
ClHE d":"T1"}
=HFE [MsgManager] ==& O Al Al : {"dst_id":"T2","msg_content™:{"cert_code ]

":"8rM8S","item code":2,"item num":2},"msg_type":"req_prepay"”,
-‘id'll : 'IIT1'II}

O
e

—

|d 4>
o0 r=

O
T

I
MO

T

HZH|

MEH -> CHOF K| 2 M E T2 AHEI[HIA] HIA|X] HS -> availabilityZt T SE HIAIX] =4 + T2 XHEI[0f] IS IZE A




T2 xHIHIOiI 2tH 4

i)
0l
A,
A,

sz Ao X7t At

1588, Stock: ©
: 1400, Stock: 68

: 1380, Stock: ©
: 1358, Stock: 16

, Price:

[, Price:

Price:
Price:

1588, Stock: ©
1480, Stock: 66
1380, Stock: ©
1358, Stock: 15
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[MsgManager] & O A Al : {"dst_id":"T2","msg_content":{"coor x":1€
,"coor_y":20,"item code":1,"item num":8},"msg_type":"resp_stock","s
rc_id":"T1"}
[P2PClient] connection failed to 127.
[P2PClient] connection failed to 127.
S22 pli(1) | O =T 2) | 1*DH [PZPCl%ent] connect%on fa%led to 127.
ID: 1, Name: EEEP, ice: 1500, Stock: @ [PZPCl?ent] connect%on fa?led to 127.
ID: 2, Name: ﬁfﬂlE}, Price: 1400, Stock: @ [PARELE ]| (ol iagiEy TR TR 2
1308, Stock: © [P2PClient] connection failed to 127.
- [P2PClient] connection failed to 127.
E_L |(|2§ | a0 E=(3): 1 [P2PClient] connection failed to 127.
T = It : [P2PClient] connection failed to 127.

: 1500, Stock: © [P2PClient] connection failed to 127.
: 1480, Stock: 66 [Hmp AEFD| D Dii:||rf'
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:5883 error code: ©
:5883 error code:
:5884 error code:
:5884 error code:
:5885 error code:
:5885 error code:
:5886 error code:
:5886 error code:
:5887 error code:
:5807 error code:

At, Price:

00 0 0 0008 &
D00 0 300 D
R R R R RRRRRR




0=
L. O

e
®
o

B AuthCode

codeld: int
code: String
itemId: int
itemNum: int

getCode(): String
getltemid(): int
getltemMum(): int

generate

1

= AuthCodeManager

authCodelist: List<AuthCode>

B Eank

bankld: String

Pay(): int

=] PaymentManager

bankld: String

getCardMum{)
requestP ayment|String cardMum, int cost)

B Hem

itemnld: int
name: String
price: int
stock: int

getStock{): int

getCostiint itemMum): int
getMame)
decreaseStock{int amount)

B oWM

DWMId: String
coorX: int
coort: int

0.2

Steck 1

= ltemManager

itemList List<ltem>
selecteditem: int

showBuyResult{item item)
askUserPrepayment()
requestSelect()

generateAuthCode()

saveAuthCode(int item|d, int itemMum, String code)
isValidAuthCode(String code)

pophuthCode{String codeld)

makefuthCode({string code, int itemld, int itemMum)}

showPaymentResult{int payResult)
showPrepaymentResult{AuthCode authCode)
askBuyDrCodelnput()

requestAuthCode()

9

9

B AltDvmManager

DAMList: List<ARDWM=
selected DVM: String

showltemList()

minusStock(): void

isEmough(int itemMum): boolean
saveSelected ltem(int itemn|d, int itemMum}
showButResult)

getFaymentAmount()

MsghManager

createRequestitemStockAndLocation|ltem selecteditem)
createSendPrepaymentivailability(ltem item)

woid addDWVM|string dvmld, int coork, int coorY)
woid selectAHDWM{int curt, int curr)

=fring getSelectedDVWM(}

pair<int.int> getADVWMLocation()

woid reset();

0.

B AlDvm

DWMId: String
coorX: int
coory: int

getld(}
getLocation()

createRequestPrepayment(String dvmid, AuthCode authCode)
createSendltemStockAndLocation(ltem item, int coorX, int coory’)
requestitemStockAndLocation(ltem selectedltem)
sendPrepaymentAvailability(tem item)

requestPrepayment|{String dvmld, AuthCode authCode}
sendltemStockAndLocation(item item, int coorX, int coor'’)

sendTo{string dstid, string m=g)

receivePrepayResponse(string srcld, string availabilty, int coork, int coory)

1

= AuthCode

code: String
itemnld: int
iternMum: int

string getCode(}
int getltemnid{)
int getltemMNum{)

generate

] AuthCodeManager

authCodeList: List<AuthCode=

= Bank

string bankld
map=string, int> account

Pay(): int

B ftem

= PaymentManager

itemid: int
name: String
price: int
stock: int

bankld: String

getCardMum{)
requestPayment(String cardMum, int cost)

int getStock()

int getCost{int temMum)

string getMame

vwoid decreaseStock(int amount)

= oM

DV MId: String
coorX: int
coor': int

Stock 4

= HemManager

wector<tem: temList
int selectedltemid
int selecteditemMum

woid showltemList()

showBuyResult{ltem item)
askUserPrepayment()
requestSelect()

siring generateCode(}

AuthCode makeAuthCode(string code, int item|d, int itemMum)
woid saveAuthCode(string code, int itemld, int itemMum)
bool isValidAuthCode(string code)

pairint, int> popAuthCode(string code)

showPaymentResult{int payResult)

askBuyOrCodelnput()
requestAuthCode()

showPrepaymentResult{AuthCode authCode)

void saveSelected tem(pair<int,int> savelnfo}
int checkStock(int itemid)

wvool isEnough()

vool isEnoughiint itemd)

woid minusStock()

woid minusStock{int itemld, int temMum)

woid showBuyResult()

1

= AltDvmManager

DA MList: List=ARDWVM=
selected DWM: String

P2PClient

bool sendMessageToPeer(string ip. int port. string msg. string response)

int getPaymentAmount()
1
1 1
B Msghanager
int coorkX
int coorY’

1
= PZFServer
E0CKET listenSocket
int port
atomic<bool> running
thread serverThread
woid start(}
woid stop()

woid add DVM(string dvmld, int coorX, int coory)
woid selectARDWM(int curr, int curry)

siring getSelectedDVM()

pair<int.int> getARDVMLocation()

waid reset();

0.*

= AlDvm

DWMId: String
coon: int
coory: int

string getld{)
pair<int,int> getlocation()

string createRequestitemStockAndLoeation{int temCode, int temMum)

string createResponseltemStockAndLocation{string dstld, int itemCode, int itemMum, int coorX, int coorY)
siring createRequestPrepayment(string dstid, int itemCode, int itemMNum, string certCode)

string createResponsePrepayment{string dstid, int iternCode, int itemMNum, siring availability)
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ir¢int, int> DVM::requestSelect() { 7|_7.I_<_0."E IO:IEII Hl'% 7|‘OI b Ajl’

int itemId, quantity;

while (true) {

cm:lt «« "2E4 HSE UHFMQ: “; OI-LI;I 7C>:I Q D-SFEEjl- HI-*H

--> TRE J2{o)

DrinkIDInput (User) : alze

(follows ) o (O &2 I HEAY cin >» itemlId;
DrinkHumInput (User) : elze 2. Fail t_l' =T== G]

if (cin.fail() || itemId < 1 || itemId > 20

=
=
wrcmes  coons (oo 1) (R e | clear?} ignore gf+E SolA]

selectPrepay (User) : else cin.ignore(numeric limits<streamsize>::max(), "\n');

cout << "BE4 HZE= 1 ~ 20 A0|Q ZIQLICH" << endl; O'IIE'I %EH 1% 7,:7|§|-'5|-J_l_ %IE'E!

continue;

[}

ezt Case 4 Zerror: (follows

StockID (ALtDVM) : else :: 4. Fail lE|- II‘E}HQI‘ gjéll :rl-:-_ DI_}EE'] break; H'I]I'l% H I-?_'I _?_-al- = ]I _E_x-" -6-H7E:I
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cin >> quantity;

“hrorsacstion oo < e | ARICECEOEERIEEN i (cin.fail0) || qwntity < 1 ] quarticy > 9 HEO| +1210] 2HE|0] test TIAO]

cin.clear();

Linitscstreansize: max(), “\n'); olz{gle
cout << "SEF FIFZ 1~00 T MER Ji=ELLE. " << endl; o
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AltDVMPrepayAvall (A1tDVM) : elze

continue;

2t Case 8 fRPror: brea liij = - - o -6 f *I x
;eq:'r-inl:.I:- (AltDVM) : else 2. Fail {E|- Ko7 |QF o 113 Ot } ?ij ?‘?_:l: %‘I‘ENIIIQL a4 —é—
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